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SECTION A
This section comprises of Multiple-choice questions (MCQ) of 1 mark each.)
[ d*y dy\2)3
i 721372
.. e aean .. . 3;‘.2_{1+(Hv) } .
(a)l (b)2 (c)3 (d)6
2. The differential equation representing the family of curves Y ?=2c(x + J©), where ¢ is a positive
(a) Order 1 (b) Order 2 (c) Degree 3 (d) Degree 4
" g
dy y ¢ X
of)=r of)=+ of)=w wli) =+
(a) & b) X ) ) (c) x (d W
. The general solution of ¥ dx + (x“ —xy + y")dy =0 jg
a b c d
( ) < I\ ( ) . I\ ](r\?'r (ar L 1.2 0 2N L lamar L, ( ) LI\
>. y
_ o o o - xsecy—=1
(a) xsecytany =c (b) (c) cy = sec xtan x (d)

P s T L LI S

N

d
1+ =1
dx i

The solition of the eanation is

(a)y = log (1 + xz) +c (b (c)Y ~ log(1+x)=c (d)y =tan” Tx+c
The solution of the equation & X X 1S

log(X)=cx Y —logy +c (c)y =logy +1 (dy=xy+c
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The solution of the differential equation xdy = ydx = (Jx* + y7)dxjg

(@)Y ~ P+ yt= cx? byt X2+ yt = cx? Y T R+ Y+ cx*=0 (d)None of these
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e ytanx = x""cos x

The solution of the equation 4 is
@ bymy =" +c)cosx () y=@" "+ c)cosx  (d) Noneofthese
(m+1)y =x™"1cos.
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SECTION B

This section comprises of very short answer type-questions (VSA) of 2 marks each.)
I1 Find the differential equation of all non-horizontal lines in a plane

& dy +1=¢"Y
Solve the differential equation 4%
13 etan_ly)ﬂzo
Find the general solution of the differential equation (1+Y 2)+(X- dx
SECTION C
(This section comprises of short answer type questions (SA) of 3 marks each)
14 s
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15 Solve the differential equation (1 + y 2) tan"'x dx + 2y (1 + x 2) dy = 0.
[6 Solve: (x +y) (dx — dy) = dx +dy.

SECTION D

This section comprises of long answer-type questions (LA) of 5 marks each)
17 d(xy)

18 dy

19 Find the 'equation of a curve passing through the point (1, 1). If the tangent drawn at any point P (x, y) on
the curve meets the co-ordinate axes at A and B such that P is the mid-point of AB.




